INICIALIZACIÓN

i=0;

for(int ix=-55;ix<=55;ix=ix+1)

{


for(int iv=-55;iv<=55;iv=iv+1)


{




x[i]=ix*0.5;
xo[i]=x[i];



v[i]=iv*0.5;
vo[i]=v[i];



i=i+1;


}

}

for(int j=0;j<N;j=j+1)

{


ejex[j]=j;

}
EVOLUCIÓN

cont=cont+1;

if(cont ==2) _pause();

for(int it=1;it<=15000;it=it+1)

{

t=it*dt;

for(i=0;i<N;i=i+1)

{

a=-x[i]-2*beta*v[i]-gamma*Math.pow(x[i],3)+Fo*Math.sin(wf*t)+Math.cos(wf*t);

v[i]=v[i]+a*dt;

x[i]=x[i]+v[i]*dt;

T=1./2.*v[i]*v[i];U=1./2.*x[i]*x[i]+gamma/4.*Math.pow(x[i],4);

E[i]=U+T;

}

}

for(int n=0;n<N;n=n+1)





{

if(E[n]<20) color[n]=java.awt.Color.red;

else color[n]=java.awt.Color.blue;

}

